

# Biomatematicas

⇒ Plataforma educativa ⇐

Dolores Hortencia Dominguez Lopez.

QFB. Leyber Bersain Martinez 2º parcial

Segundo Semestre.

①

$$y = \frac{2-y-0}{1+2x^2-y}$$

$$\frac{dy}{dx} = \frac{y \frac{du}{dx} - u \frac{dv}{dx}}{v^2} = \frac{(1+2x^2)(1) - (2-y)(1+4x)}{(1+2x^2)^2}$$

$$\frac{1+2x^2-1+4x}{(1+2x^2)^2} = \frac{2x^2+4x}{(1+2x^2)^2}$$

②  $y = u^6$

$$\left. \begin{array}{l} \frac{d}{du} x^n = n x^{n-1} \\ \frac{d}{du} u^6 = 6u^5 \end{array} \right\} 6x^{6-1} = \underline{6x^5}$$

③  $y = \ln(ax+b)$

$$\left. \begin{array}{l} u = ax+b \\ u' = a \end{array} \right\} \frac{\frac{d}{dx} a}{ax+b} = \frac{a}{ax+b}$$

derivada  $\frac{\frac{d}{dx} u'}{u}$

④  $y = \ln x^3$

$$\frac{d}{dx} \ln x^3 = \frac{1}{x} \cdot \frac{d}{dx} x^3 = \frac{d}{dx} \frac{x^3}{x^3} = \frac{3x^2}{x^3} = \frac{1}{x}$$

Simplificación

$$5) y = 4x \sqrt{x^2 - 1}$$

$$u = 4(2x^2 - 1) = 8x$$

$$v = \sqrt{x^2 - 1} = u = \frac{2x}{2\sqrt{x-1}}$$

$$\left. \begin{array}{l} \frac{dy}{du} \cdot \frac{du}{dx} = \frac{d}{du} (8x) - \frac{d}{dx} \left( \frac{2x}{2\sqrt{x-1}} \right) \\ \frac{8x}{1} \cdot \frac{2x}{2\sqrt{x-1}} = \frac{16x^2}{2\sqrt{x-1}} = \frac{8x^2}{\sqrt{x-1}} - \text{denom} \\ \frac{16x}{\sqrt{x-1}} \end{array} \right\}$$

$$6) y = \frac{a+y}{a+y} =$$

$$u = (a+y)$$

$$v = (a+y)$$

$$v = +1$$

derivada

$$\frac{dy}{dx} = \frac{v \frac{du}{dx} - u \frac{dv}{dx}}{v^2}$$

$$= \frac{(a+y) \frac{du}{dx} (-1) - (a-y) \frac{du}{dx} (+1)}{(a+y)^2}$$

$$= \frac{(a+y) (-1) - (a+y) (+1)}{a+y^2} \rightarrow (a+y) (-1) = a-y$$

$$= \frac{a+y - a+y}{(a+y)^2} = \frac{2y}{(a+y)^2}$$